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Section 1 - General Knowledge

No. of Questions: 10

QLabel : CANOVQ17

Q2858279) Which of the following is a half-humanoid robot
first unveiled in January 2020, developed by the Indian
Space Research Organisation that will be sent to space as
a part of Ganganyaan mission?

A) Manav

B) Robocop
C) Gaganchari
D) Vyommitra

QLabel : CANOVQ17

Q2858279) fAufafad & § ®F 1 th ordf-ggr-igs Jale §
forgeT Ugelt IR SHaR! 2020 H 3FERU fHar mm U, {5
YR SfdfRel SHu™ e gR1 fasfa fasar mn @
SR S T e & Th U & ©U § Sfalke & 9e
STT?

A) AFd
DIREIEZL
C) TRTaRI
D) AW

QLabel : JSLPING1032

Q2858509) Which of the following national parks is a habitat
of Asiatic lions?

A) Jim Corbett National Park
B) Kanha National Park

C) Gir National Park

D) Kaziranga National Park

QLabel : JSLPING1032

Q2858509) AR # & B A1 AT I RS Righ 1
3aTY ®IH 2

A) M pide AP I

B) Il APT FeIM
c) fir i sem

D) BSIRIT IFIY I

QLabel : CANOVQ18

Q2858280) The first batch of five Rafale fighter jets
arrived at the Ambala Air Force Station in 2020. These
fighter jets have been manufactured by which of the
following aerospace companies?

A) Lockheed Martin
B) Dassault Aviation
C) General Electric
D) Rolls-Royce

QLabel : CANOVQ18

Q2858280) U qHd R faaMT &1 ygar ST 2020 H
SSTE g 1 WRE W UgdT| 31 dei% faumi &1 fHaf
ﬁaﬁr@aﬁ@r%&mﬁ@amﬁmﬁmw%’

A) didgis A
B) Sdice UAUIH
C) SR galfded

D) e o

QLabel : BSPHCLIC48

Q2583021) The Part XVIII of the Indian Constitution deals
with which of the following topics?

A) Official Language

B) Emergency Provisions
C) Elections

D) Tribunals

QLabel : BSPHCLIC48

Q2583021) YR WAYT &1 UFT xviIl FFgfeiead & ¥ fog
fowg & gefda 82

A) SIS HIST

B) SATUTdHIcH TTaeT
C) 9|

D) fesga

QLabel : BSPHCLIHS2073

Q2567410) Who among the following British officers
announced the 'Communal Award' in 19327

A) Ramsay MacDonald
B) Winston Churchill
C) Neville Chamberlain
D) Clement Atlee
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QLabel : BSPHCLIHS2073

Q2567410) 1932 ¥ fufafed ¥ ¥ fow fofew ofdert
3 AigeRie sifufofa ot ivon @12

QLabel : BSPHCLIC47

Q2583020) The provisions of Rule of Law, Parliamentary
system of Government and Single Citizenship in the
Constitution of India are borrowed from the Constitution of
which of the following countries?

A) United Kingdom
B) Japan

C) Germany

D) Russia

QLabel : BSPHCLIC47

Q2583020) HRA & AAY H 99 ST, WPHR &I G
JUITelt 3R Thd ANl & Uray Fufefad § 4 fog e
P Ty I fow e g2

A) TARcS fdhirey
B) STAH
C) S
D) &4

QLabel : BSPHCLIHS2072

Q2567409) Read the following statements and choose the
CORRECT option.

(i) The Non-Cooperation Movement was launched in 1920
and it fostered Hindu- Muslim unity in India.

(ii) The Civil Disobedience Movement was centered around
the defiance of salt laws throughout India.

A) (i) is TRUE and (i) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE

QLabel : BSPHCLIHS2072
Q2567409) fFafifad Hy= &1 ug 3R T fadwed |

(i) SN 3fieia 1920 T Y= faram 7T U7 3R 3¥ YR
 fEg-gfes uohdr &1 gerar faur|

(i) TG ST TG I HRA & THS BT B g
& 3¢-M Ffed i

A) () T8 § 3R (i) T8l &

B) (i) Wl & SfR (ii) Tad §
C) (i) T § 3R (ii) TSl ©
D) () TIad g 3R (i) Tad 8

QLabel : BSPHCLIGS165

Q2589832) What is common between the three rivers
Sabarmati, Mandovi and Narmada?

A) All the three rivers drain into the Arabian Sea

B) All the three rivers originate in the state of Gujarat

C) All the three rivers are east flowing rivers and drain into
Bay of Bengal

D) All the three rivers originate at Bhima Shankar in
Maharashtra

QLabel : BSPHCLIGS165

Q2589832) 1 Afeal GreRH, AISIAT 3R THa1 & T T
T 82

A) il i el 3Re AR # o S5l §

B) Tt i R R A IFH AT

) g+t o Afeal gd 1 S5 arelt Afedl & IR Sa B
ISR EIERRI

D) T i et HeRTY & e Loy A I St €

QLabel : Q39

Q2863823) Anténio Guterres has been appointed for the
second term beginning January 1, 2022 as the:

A) President of the World Bank Group

B) Managing Director of International Monetary Fund
C) Secretary General of United Nations

D) Director-General of the World Health Organization
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QLabel : Q39

Q2863823) U [y Dl 1 TaRY, 2022 I L= g a1l
?W%Wﬁﬁ@ﬁﬁﬁmwﬁﬁwmw
2

A) fay d& wg & sremer

B) SIRTYI Tl BN & Uiy Fe=
C) eI Y AETHd

D) fay W=y WA & Heex®

QLabel : Q10

Q2863822) The 21st meeting of the Shanghai Cooperation
Organisation (SCO) Council of Heads of State was held in
September, 2021 in Dushanbe in hybrid format. Who among
the following Ministers represented India at this summit?

A) Nirmala Sitharaman

B) Rajnath Singh

C) Subrahmanyam Jaishankar
D) Anurag Thakur

QLabel : Q10

Q2863822) TGS TGN TS (SCO) P AT BT URVG
@1 213t do@ RIdaR, 2021 T G-I H grefoe Ureu H Safora
Pt 73 0| Fafaled § 9 feg d: 7 39 RreR g@iaq § YRa
o1 ufaffaa farar?

A) e darao
B) oY &g

C) YSRIUgH SR
D) S3{RIT3IPX

Section 2 - Logical Reasoning

No. of Questions: 10
QLabel : BSPHCLANG27

Q2536319) Select one of the following four options that will
make the 2nd pair analogous to the 1st pair given

RAT : ART :: TRACK : ?.

A) TKCRA
B) AKCRT
C) ACKRT
D) ATCRK

QLabel : BSPHCLANG27

Q2536319) FHAIRYT IR fddwed & W TP &1 T8 B off gERl
TS O T U Sl F GEET S

RAT : ART :: TRACK : ? .
A) TKCRA
B) AKCRT

C) ACKRT
D) ATCRK

QLabel : BSPHCL_SV11

Q2599519) Which is the next image in the problem figure?.
Select one of the option from the answer figure.

Problem Figures Answer Figures

—— G | —| —

o | mp | | | | S0 | 208 | S DI

— = | | | | o

— = v

A B ( D E 12 3 +
A) 1
B) 2
C) 3
D) 4

QLabel : BSPHCL_SV11

Q2599519) THHT 3P H SATAT o B T7 82 IR 3P

o 9 forddt U fdhed 1 9o Sifoig |
Problem Figures Answer Figures
—’ ‘— — | —
o | mp | | | | S0 | 208 | S DI
— = | | | | o
—_— q
A B ( D E 1 27 3 :
A 1
B) 2
C) 3
D) 4
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QLabel : BSPHCL_SV12

Q2599520) Choose the CORRECT match of the image that
will fill the blank space of the problem figure.

Problem Figures

Answer Figures

|

VYR Y

0] (o) 0 W

A) (a)
B) (b)
C) (c)
D) (d)
QLabel : BSPHCL_SV12

Q2599520) BId BT gl A T Sl JHRT 3Mpid & Nad
Y B WR

Problem Figures Answer Figures

| |
'\E ﬂ‘

(8) (b) (e) (d)

A) (a)
B) (b)
C) (0)
D) (d)

QLabel : BSPHCLANG25

Q2536317) Select one of the following four options that will
make the 2nd pair analogous to the 1st pair given

Cow : Calf:: Hen: ?.

A) Sow
B) Chick
C) Flock
D) Pup

QLabel : BSPHCLANG25

Q2536317) MUY IR fadwed! & T TH BT 94 B ol gEr
aE B @ T Useh WIS gAY S

Tﬁq:m::ﬁ’ﬁ:

A) RTEI
B) dSil
C) g8
D) fucen

QLabel : BSPHCLLR297

Q2514905) A square plot is bordered on its sides by using
54 poles on each side. The number of poles, required to
fence all the borders completely is

A) 520
B) 216
C) 212
D) 540

QLabel : BSPHCLLR297

Q2514905) T a6 R Giie & IRT 3R &1 TS 78 ¢ forges!
TA® Yol WR 54 U g1 Joft Yolreft R gt ave § a1
¥ foIU 3oz UIa! o TS T 82

A) 520
B) 216
C) 212
D) 540
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QLabel : BSPHCLLR292

Q2514900) A 10 litre milk solution contains 30% milk. If 10
litre milk is added to this solution, then the percentage of milk
in the resultant solution is

A) 20%
B) 45%
C) 65%
D) 88%

QLabel : BSPHCLLR292

Q2514900) 10 TteR g & TH A8 T 30% g §1 3R 39
forsror & 10 cltex gy foramar smar 8, oY uRomraey fhrgor &
Y &1 ufa=rd famr gime

A) 20%
B) 45%
C) 65%
D) 88%

QLabel : BSPHCLLR239

Q2513545) Neeti & Mohan take 3 & 8 days to complete a
task separately. The number of days required to complete a
task working together is

A) 24/11
B) 22/6
C) 3017
D) 4/3

QLabel : BSPHCLLR239

Q2513545) Teh HTH BT 3T 3T B & fo18 Hifd 3R Higd
31 3 e 3R 8 fa7 T1d €1 T T BT A P fow I
& ot T T grft?

A) 24/11
B) 22/6
C) 30/7
D) 4/3

QLabel : BSPHCLRS147

Q2590277) Directions : Read the following statements and
answer the questions given below:

A is the Father B, but B is not his son. C is the daughter of
B. D is the wife of A. E is the brother of B, H is the son E, F
is the wife of E, G is the father of F.

Question : Who is the Father-in-law of E?

A) B
B) A
Cc) C
D) G

QLabel : BSPHCLRS147

Q2590277) FAdwr: fAufafad wut &1 g ok 9 e mu
Ui & I <

A, B &1 T 8, Afth B SUST A 6T 81 C, BHI AT B D, A
I UNGIE,BHIUREIH EFIYAGIF,EB U 51 G, F
&1 fUar g1

TY: E BT IR B 82
A) B
B) A
C)C
D) G

QLabel : BSPHCLLR154

Q2512680) A pair of numbers are given in every option,
where the 2nd number in the pair is related to the first one in
a certain way. Find the odd pair. . .

A) 1235:11
B) 1201:4
C) 2353:15
D) 9087:24

QLabel : BSPHCLLR154

Q2512680) TS fdhey H BT B T Sl &t T8 §, St
o g ST, Ugch S 4 U | i § e g1 590 9§
ST SISt F1d DI . .

A) 1235:11
B) 1201:4
C) 2353:15
D) 9087:24
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QLabel : BSPHCLLRO73

Q2512399) What is the next term in the given series?

The series is 2940, 1176, 470.4, 188.16, ?
A) 75.264
B) 150.387

C) 32.341
D) 170.23

QLabel : BSPHCLLRO73

Q2512399) d T gEar H OFTell Wenm @@ g2

$|E §: 2940, 1176, 470.4, 188.16, ?

A) 75.264
B) 150.387
C) 32.341
D) 170.23

Section 3 - General English

No. of Questions: 5

QLabel : BSPHCLGEO67

Q2508859) Identify the Antonym for the word - frugal
A) evil

B) economical

C) lavish
D) complicated

QLabel : BSPHCLGEO035

Q2508827) Identify the synonym for the word - mandate
A) application

B) romance

C) authority
D) veto

QLabel : BSPHCLGE193
Q2508985) Choose the meaning of the italicized idiom

used in the given sentence.

They practiced a lot on the nets but the acid test will come
when the coach will review them.

A) effectiveness of something
B) test of conclusion

C) detect the problem

D) display of capability

QLabel : BSPHCLGE134

Q2508926) Choose the correct word substitute for the
following sentence:

One who leads an austere life.

A) Ascetic

B) Apostate

C) Atheist
D) Arbitrator

QLabel : BSPHCLGE146

Q2508938) Identify the part of the sentence that has an
error:

The girl win the medal although the match was tough.

A) The girl win

B) the medal

C) although the match
D) was tough

Section 4 - General Hindi

No. of Questions: 5
QLabel : BSPHCLHF126

Q2582678) ‘%5 Tl auf dh HARA & ............... A refiaar
CIERIRE R RIRGHBEET el R T & qfet Y -

A) gt
B) Tl
C) Wi
D) eralt

QLabel : BSPHCLHED108
Q2582660) Te=AToI T aTerdl 7 & shic-AT aTerg YGH &2

A) # JEERT gIY-ula oIS &1
B) & & ufa ves ST B
C) ST ¥ FIIel STl W &

D) SH Y & §53T NAR ¢
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QLabel : BSPHCLHS028
Q2582581) ‘WA ST TG AeC § -

INIGIEG]
B) UR-2RTET
C) #iRg
D) sThel

QLabel : BSPHCLHP154

Q2582706) 'Ueh dl el 3 @R 1A TQr wlepiferd i HEr
T FATE?

A) Ueh & HIY GET A

B) Ueh Ydcel & Gl I & ST

C) A IR FeIT HT AGaT
D) 3HBeIdT ¥ dfoold &Y shreT el

QLabel : BSPHCLHA045

Q2582598) fee=ATeIT&e hisT-&T faciie SirsT FATT et 82
A) 3cpee - faigpse

B) s - 3MTe;

C) HHOT - &7

D) Hied - 3

Section 5 - Basic knowledge of Computer

No. of Questions: 10
QLabel : BSPHCLBC278

Q2514105) Which option in MS Word dictates whether the
left and right edges of the text in a document adhere to the
right side, left, centre or justified?

A) Alignment
B) Numbering
C) Accessibility
D) lllustrations

QLabel : BSPHCLBC278

Q2514105) ATSHITFE I5 H Pl AT Aheq Ig ARG a=ar
¢, T STargaic # Taee & 91U 3R aTT favetY, 218 31K, a18, HeX
T STEEIHISE &2

A) TATSHT

B) aRar

C) vadifaeie

D) Seadeeld

QLabel : BSPHCLBC236

Q2513999) In a network with n nodes, for mesh topology
each node is connected with how many other nodes?

A) n nodes
B) 1 node
C) n+1 nodes
D) n-1 nodes

QLabel : BSPHCLBC236

Q2513999) n 5" & Ueh Acas H, A cIITellol & [T Tedeh
1S fohclel 31 A1SH @ SI3T 81T 672

A) n#AEE
B) 1418
C) n+ 1=138
D) n-1asd

QLabel : BSPHCLBC235

Q2513998) In which topology every device has a dedicated
point-to-point link to every other device?

A) Ring
B) Bus
C) Mesh
D) Star

QLabel : BSPHCLBC235

Q2513998) ¥ cdTellsll H Ycdeh f3aTsH I g g@ fsarsd
& HIY U AT Uise-g-uise fele giar g2

A) Rer
B) §&
C) Ar
D) ¥R

QLabel : BSPHCLCSS131

Q2535223) Which strategy in cyber security is a medium for
transporting Protocol Data Units (PDUs) in a protected
manner from source to destination in such a way that
disruption of any of their communication links does not
violate security?

A) End-to-End Measures

B) Strengthening the Regulatory Framework
C) Link-Oriented Measures

D) Creating an Assurance Framework
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QLabel : BSPHCLCSS131

Q2535223) HEeR AFgRET A Hlef AT WA Wiekhier Ser
ghISAT (PDUs) #T 38 cRish & Tl @ AT IcTey clsh &I
s @ TRATE S T ATETH & fob SoTeh et off shorgfereherst
foleh & cgaITeT GR&T T Seoltd o HI?

A) Us-g-Us 33U

B) fiamHeh o 1 Feg FeAre

C) mmm

D) TR HTRETET ST ST

QLabel : BSPHCLBCO018
Q2512901) Why are bookmarks used in MS Word 20167

A) To add anchors in web page

B) To mark the ending of a paragraph of document
C) To quickly jump to specific location in document
D) To add hyperlinks in webpage

QLabel : BSPHCLBCO018

Q2512901) UATH TS 2016 H JhHATh T SEAATS FT fehar
ST &2

A) A9US H T it & folw

B) STgHc & Rt # FATI fAfEeta atet o fow

C) mﬁmﬁmzmwmﬁﬁm%m
D) d9%e 2 grEwReis g & farw

QLabel : BSPHCLBCO020

Q2512903) In MS Word 2016, F12 is pressed to open
A) Close dialog box

B) Save dialog box

C) Open dialog box
D) Save As dialog box

QLabel : BSPHCLBCO020

Q2512903) THTH T3 2016 #, F12 a7 fohd WielT ST 872

A) FAIH ST ST
B) AT ST sicFq

C) 3NYT STIATIT S
D) 99 U ST Skl

QLabel : BSPHCLBC099

Q2512982) In Enhanced keyboards (101 keys), "SysRq" key
is shared with

A) Insert key
B) Print screen key
C) Pause key
D) Scroll Lock key

QLabel : BSPHCLBC099

Q2512982) TsTe¥s FIas (101 T ) 7, "Sys Rq”  &FI, e
# ¥ forass ary AT fRam Srar &2

A) 3TE Y

B) fic &R &1

C) uret &I

D) ThicT dlieh I

QLabel : BSPHCLBC391

Q2515193) What is the name of the cyber attack which
seeks to compromise a DNS server so that users can be
redirected to unsafe websites? (Domain Name System is
written as DNS)

A) DNS stabbing
B) DNS mapping
C) DNS poisoning
D) DNS switching

QLabel : BSPHCLBC391

Q2515193) 3 HISEX 31eh & ATH FIT § i Tsh DNS TR I
AT AT & oIfeh 3UGThci3i I IRIETT derargel @
{erRee foRaT ST a&h? (31 Aa [@TcHd DNS & &9 # forar
ST E)

A) DNS Tefaar

B) DNS &fder

C) DNS dfgsifaiar
D) DNS feaferer

QLabel : BSPHCLBC098

Q2512981) Which keyboard has 83 keys?
A) XT keyboard

B) AT keyboard

C) Enhanced keyboard
D) Windows keyboard
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QLabel : BSPHCLBC098
Q2512981) fora HE1S 7 83 T 8 872

A) XT &S
B) AT &5
C) Uelges Hrals
D) fasm &Es

QLabel : BSPHCLBC125

Q2513805) Which of the following technologies is used to

secure networks?

A) Viruses
B) Worms
C) Firewall
D) Trojan Horse

QLabel : BSPHCLBC125

Q2513805) wieadh i FIT&Id Wl & ToIv fohdy eFaTelloi

39T FRAT SATAT §2

A) aRRE
B) a&g
C) WraRdre

D) grelet g

Section 6 - Electrical and Electrical and Electronics

No. of Questions: 60

QLabel : JHUVNLB2EEEC25

Q2857892) The maximum power that can be transferred to
the load resistor RL from the voltage source in the given
figure is /

Image

A) 1W

B) 10 W
C) 0.25 W
D) 0.5W

QLabel : JHUVNLB2EEEC25

Q2857892) few 71w AT & alecar @19 & R wfcRItes RL Fi
W%lﬁrsﬁﬁaﬁﬁ%mmm%ﬂ?%

A) 1W

B) 10 W
C) 0.25W
D) 0.5W

QLabel : JHUVNLB2EEEC26

Q2857893) In the given circuit what is the value of voltage
eo?

4 0ohm 2ohm
o—AWW—ae—AVW\—
o4
12v 4ohm% e0 <<20hm
— ]
o *-
A) 2v
B) 4/3v
C) 4v
D) 8v

QLabel : JHUVNLB2EEEC26

02857893) faT 37T uRuYr # e eo &I Hed fahdaTr g2

40hm 20hm
O—AWW——WW\—
I
12v 4ohm% eo0 %ZOhm
g ]
o .
A) 2v
B) 4/3v
C) 4v
D) 8v
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QLabel : JHUVNLB2EEEC28

Q2857895) In the two port network given below, what are
the impedance parameters Z:: and Z::?

2Q 20 30
1 WY AR I VYWWAN— 2

-

A ',"v‘.—<

102 102 <

S
>
l /

AA
\
¥

A) Z,,=2.75Q0and Z,.=0.25Q
B) Z,:=3Qand Z,.=0.5Q

C) Z,,=3Qand Z:, =0.25Q
D) Z..,=2.25Qand Z..=0.5Q

QLabel : JHUVNLB2EEEC28

Q2857895) =i f&T 31T &F Ui Aeash &, gfaerer RFHER 7.
IRZ.. FATE?

2Q 20 30
1 A AAA I AAAA \WWW— 2

V-_<

<

10 < 10 <

Yvy

]

—

A) Z.,=2.75Q03RZ,.=0.250
B) Z::=303RZ:.=050Q

C) Z::1=3Q3RZ:.=0.25Q
D) Z:.:=2.250 31k Z,.=0.5Q

QLabel : JHUVNLB2EEEC27

Q2857894) A source with angular frequency 1 rad/s has a
source impedance consisting of 1 Q resistance in series with
1 H inductance. To obtain the maximum power transfer the
load impedance should be

A) 1Q resistance

B) 1 Qresistance in parallel with 1 H inductance
C) 1 Qresistance in series with 1 F capacitance
D) 1 Qresistance in parallel with 1 F capacitor

QLabel : JHUVNLB2EEEC27

Q2857894) HIUM IR 1 rad/s aTer T 3 Ty gfcyaTer gl
¢ o e 1 H 3iftrsarae & arer e # 1 0 gfady giar B
T dH AT AT UTed et o TIT AR GTdeTen giedl amigu

A) 10 yfae giar arfge
B) 1 Q 9faRIer 1 H g3 IT JTASSIIT o FATATR &

C) 10ufeRIY 1 F haf&ds & @y y@en &
D) 1 Q 9feRier 1 F Haffex ar guriRa & TAATaR H

QLabel : JHUVNLB2ECAC1

Q2857915) The simplest way to convert a continuous time
signal into a discrete time signal is

A) Decoding
B) Multiplexing
C) Sampling
D) Coding

QLabel : JHUVNLB2ECAC1

Q2857915) U& Tdd THYT Hehd Pl Teh JAdd THI Hohd H
gRafdd aet & forw aed 3mare alier &

A) RIS
B) T
C)

D) ifsar

QLabel : JHUVNLB2EEDE37

Q2857905) Which of these sets of logic gates are
designated as universal gates?

A) OR, NOT, AND

B) NOR, NAND

C) XOR, NOR, NAND
D) NOR, NAND, XNOR

QLabel : JHUVNLB2EEDE37

Q2857905) 3T e dIc & HeT A H HisT AT JfAdd e AT & &
HAATE?

A) OR, NOT, AND

B) NOR, NAND

C) XOR, NOR, NAND
D) NOR, NAND, XNOR

QLabel : JHUVNLB2EEAE45

Q2857914) If for a silicon npn transistor, the base to emitter
voltage is 0.7, with emitter being negative and the collector
to base voltage is 1.2 Volt where collector is positive, then
the transistor is operating in the

A) Active mode

B) Saturation Mode

C) Inverse active mode
D) Cut off mode
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QLabel : JHUVNLB2EEAE45

Q2857914) afe ta fAfeisT npn gifoeer & forw, 3mar &
3choleh dleedl 0.7 &, 3c8aldh ASNIcHS gl & a1y 3K
HaTgeh T 3MUR dfeedT 1.2 afec § S8l G GhRIcHS g, ar
7

A) TfFTASAFA I E

B) Tt A1s & 1A FHT @I

C) T TR AIS 7 1o o @&

D) &he 3T Al & 1 A @Y

QLabel : JHUVNLB2EEAE35

Q2857903) The maximum theoretical efficiency of half wave
rectifier is about

A) 41%
B) 50%
C) 80%
D) 99%

QLabel : JHUVNLB2EEAES35

Q2857903) 3reTcier uRkeierss &1 fOhan dewifasw aardr
AT E

A) 41%
B) 50%
C) 80%
D) 99%

QLabel : JHUVNLB2EEDE38

Q2857906) Which is the condition for toggle mode in JK flip
flop?

— =
[P SR S R G
o 1n
Or RO

o0Om>
|—\_oHO
AXRXAXRX

QLabel : JHUVNLB2EEDE38

Q2857906) JK TFeIT Fallq & ClaTel AIS & ToIT it TY AT &7

[ SR SR Sy Y
(TR
i
XRXAR
monon
orroO

Soz2

QLabel : JHUVNLB2ECAC2

Q2857916) A carrier wave of peak voltage 20 V is used to
transmit a message signal. What should be the peak voltage
of the modulating signal in order to have a modulation index
of 80%?

A) 36 volt
B) 40 volt
C) 26 volt
D) 16 volt

QLabel : JHUVNLB2ECAC2

Q2857916) 20 V RIWR atecdr & dTgsh el I Teh T2 Tohd
ARG F & fow gaier fFar Srar &1 80% & AlsgerT
i gl & ToIU Algeleh Hehel I RIGT dleedr 41 gelr

Trfgu?

A) 36 dlec
B) 40 dlec
C) 26 dlec
D) 16 dlec

QLabel : JHUVNLB2ECACS

Q2857917) An audio signal has a bandwidth of 50 kHz. The
maximum value (amplitude) of modulating signal is 10 V.
This signal frequency modulates a carrier. If the frequency
sensitivity constant of the modulator is 20 kHz/V, then
according to Carson’ s rule, the bandwidth of the modulator
output will be

A) 500 kHz
B) 50 kHz

C) 100 kHz
D) 250 kHz

QLabel : JHUVNLB2ECACS5

Q2857917) T HifZAT f&aster & 50 kHz & dsfasy g ¥l
HgRTET RveTel a7 31TRIacrst ATt (ITATH) 10 V ¥ g Faaier
IR Uk dlgeh T Algele Ll &1 e Aggelel ST Mgy
HaesTeferdr fEeRieh 20 kHz/V ¥, af ¥ & s & 38R,
mwﬁéﬁumﬁ?

B) 50 kHz

C) 100 kHz
D) 250 kHz
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QLabel : JHUVNLB2EEDE39 A) -(R:/R1)
B) -(Rs/R1)
Q2857907) Which of the following logic families has the C) -(R:lIRs)/R:
shortest propagation delay? D) -(R:*+Rs)/R:
A) CMOS QLabel : JHUVNLB2EEAE36
B) MOS
8 EI:'-L Q2857904) 4T 1T yatish i dreedT ITeieyr Far &2 op-amp

I 31TesT op-amp AT o |
QLabel : JHUVNLB2EEDE39 R1
>—-—o Vo

Q2857907) fraifaf@d & IRart & & fraet s g=ror

IECERY i
A) CMOS
B) MOS
C) TTL
A) -(R:/R:1)
D) ECL B) -(R:s/R1)
C) -(R:IIR:)/R:

QLabel : JHUVNLB2EEAE44 D) -(R:+R:)/R,
Q2857913) For a transistor operating in Common Emitter
(CE) Configuration, calculate the value of IE for 8=40 and
IB = 25 microA.

(Notations/symbols carry their usual meaning)

QLabel : JKDMCBE129

Q2857925) Standard file format for saving vector graphics
created in AutoCAD is

A) 1.025 mA

B) 10.25 mA é; 33,?
C) 102.5 mA 3
D) 1025 mA ).

QLabel : JHUVNLB2EEAE44 QLabel : JKDMCBE129

Q2857913) 33AMATS ITHo (CE) HEAT H WA OF (5007005 3itoyshs ot e 77 39 T1Rearey 7 ot 3 T
TIfoiFeX & foiw, B =40 3R IB=25 ATShI TFRX & folT IE &

HleTeh Bl TA¥T

Al ’ :
TR B e e ) A) bng
B) dwf
A) 1.025 mA C) dwg
B) 10.25 mA D) dwt
C) 102.5 mA
D) 1025 mA QLabel : JKDMCBE143
QLabel : JHUVNLB2EEAE36 Q2857929) If you want to remove only a part of an object in

_ _ _ . AutoCAD, then which command can be used?
Q2857904) What is the voltage gain of the given amplifier?

Assume the op-amp is an ideal op-amp. A) BREAK
B) COPY

vy ~ C) OFFSET
i >—‘° ve D) MOVE
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QLabel : JKDMCBE143

Q2857929) Ife 3T AutoCAD H fadlT 3fTesiare &7 shael T
TREHT 1T ATEd &, A T T FHHTS T 3YATIT [HAT ST GehedT

87

A) BREAK
B) COPY
C) OFFSET
D) MOVE

QLabel : JHUVNLB2EEACMO04

Q2857871) A 20 pole, 30 Hz alternator is directly coupled to
and is driven by 60 Hz synchronous motor. The number of
poles for the synchronous motor is

A) 48
B) 12
C) 40
D) 16

QLabel : JHUVNLB2EEACMO04

Q2857871) Tk 20-4tel, 30 g&af Jifecaiey, 60 géal HITH
AT A YcgeT A & AR 38 canr i ¢ | [ishiera Aley &
T g frgear g

A) 48
B) 12
C) 40
D) 16

QLabel : JHUVNLB2EEDCMO05

Q2857872) The generated voltage of a lap wound generator
is 200 V. If the number of poles of lap wound generator are
double, then it's generated voltage will become

A) 200V
B) 100V
C) 400V
D) 300V

QLabel : JHUVNLB2EEDCMO5

Q2857872) oI a138 FTele &1 3cUeoT dlec st 200 V &1 Ife T
aI3s SieikeX o ¢al T T&AT ST 8, Al 3T SAfid dlecst
ToheTetT g1 SITueT?

A) 200V
B) 100V
C) 400V
D) 300V

QLabel : JHUVNLB2EEACMO1

Q2857868) A 200 V/100 V, 50 Hz transformer is to be
excited at 40 Hz from 100 V side of the transformer winding.
For the exciting current to remain as rated, the voltage to be
applied should be

A) 150 V
B) 80V

C) 100V
D) 125V

QLabel : JHUVNLB2EEACMO1

Q2857868) TWeh 200 V/100 V, 50 Hz TABIAT HlI SFHIET
arsf3ar & 100 V A58 & 40 Hz W 3afad fohar o= g1 31es
& T H T & AU Ideeh 9RT & fore, oy fham Sire arer

alec ol glaT AT
A) 150 V

B) 80V

C) 100V

D) 125V

QLabel : JHUVNLB2EEDCMO06

Q2857873) A 260 V DC series motor takes 60 A when giving
its rated output at 1200 rpm. Its resistance is 0.5 ohm. The
value of the resistance which must be added to obtain rated
torque at 800 rpm is

A) 5.42 ohm
B) 3.75 ohm
C) 2.82 ohm
D) 1.28 ohm

QLabel : JHUVNLB2EEDCMO06

Q2857873) Tsh 260 dlee DC Avlt Aex, 1200 wfa A
AREHHAUT I 9T FA TR 3M3eYe & THT 60 A T ¥ 3T
gfeRTe 0.5 ohm g1 800 rpm W TR efeh Tod diel o Tl

STeRIY T He ST SISt ST M8 T, 98
A) 5.42 ohm §
B) 3.750hm¥g
C) 2.82ohm§g
D) 1.28 ohm &
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QLabel : JHUVNLB2EEACMO02

Q2857869) The stator of a 3-phase, 4-pole slip ring induction
motor is connected to 50 Hz supply. At the rotor terminals, a
frequency of 30 Hz is required. The speed at which the rotor
must be driven is

A) 1500 rpm
B) 2000 rpm
C) 600 rpm
D) 900 rpm

QLabel : JHUVNLB2EEACMO02

Q2857869) Ush 3-thaT, 4-UTeT T&eTq 3T SeT8e2re HIeT FT T}
50 g&af T 3MYfcl & ST &1 UeX iAol IX, 30 gl &1 3Tghay
& g ¢l g a1fad @ Ve wnfara forar s anfge, ag &

A) 1500 rpm
B) 2000 rpm
C) 600 rpm
D) 900 rpm

QLabel : JHUVNLB2EEDCMO08

Q2857875) An 12-pole DC generator has a simplex wave
wound armature containing 24 coils of 8 turns each. Its flux
per pole is 0.1 Wb. The machine is running at 300 rpm. The
induced armature voltage is

A) 960 V

B) 1092 V
C) 1152V
D) 2024V

QLabel : JHUVNLB2EEDCMO08

Q2857875) Teh 12-9Tef DC SelReX H Ucdsh 8 UI arel
24 Hisel Jardl Uah FTeldd dd a138 AT § | 38eT wict drer
FoIFH 0.1 I g1 7AMA 300 9 fAste aRepaor O T @ 8l

IRa 3R aleearg
A) 960 V

B) 1092 V

C) 1152V

D) 2024V

QLabel : JHUVNLB2EEDCMO7

Q2857874) An 8-pole, 250 V wave wound generator has 200
conductors, if the generator is to be lap wound, for the same
voltage the number of conductors required is

A) 800
B) 1000
C) 1600
D) 3200

QLabel : JHUVNLB2EEDCMO7

Q2857874) Teh 8-Utel, 250 V TRIT AT38 STeTRex H 200 e
g9 €, I STeReT 1 9 ar3es g &, ar 34 dleesl & AT
3TTaTS HsFel] hT TE&AT §

A) 800
B) 1000
C) 1600
D) 3200

QLabel : JHUVNLB2EEACMO03

Q2857870) In a 3-phase alternator the slots/pole/phase is
equal to 5, and the coil span is 12 slot pitches. The coil span
factor is

A) Cos 38 degrees
B) Cos 18 degrees
C) Cos 45 degrees
D) Cos 25 degrees

QLabel : JHUVNLB2EEACMO03

Q2857870) Teh 3-WaT 3iTecatel & Talic/ANel/heT 5 & RN &
3R Fisa T #A12 Tl NI ¢ | Figad W FREF &

A) Cos 38 f3aft
B) Cos 18 f33f
C) Cos 45 f3af
D) Cos 25 f33fr

QLabel : JHUVNLB2ECCN17

Q2857921) Which protocol is used to facilitate
communication between computers?

A) VPN

B) CPU

C) TCP/IP

D) Data Cable

QLabel : JHUVNLB2ECCN17

Q2857921) FYX & T AR FIIH el & forw HleFar
TeTehiol TANIT FohaT SITaT &7
A) VPN

B) CPU
C) TCP/IP

D) 3T shadl
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QLabel : JHUVNLB2ECCN18

_ FRUT: DNS TR, ITdeT AR F |P I Fl IgATeIc §
Q2857926) The protocol which translates between IP

addresses and hardware addresses by maintaining a table ‘ :
of mappings is called A) et AT areF 3R HROT T § 3 HRoT, [ARwd arera

g g .
B) alal flRad arerd 3R SRUTHE & oifehet 0T, fAfad arerr
(notations/symbols carry their usual meaning) $T geY arEar ;@;f‘%
C) TAT¥ad areT Tel § wifched HROT Tl &
A) FTP D) gt AfRed are 3R SRoT T &
B) HTTP
C) DHCP QLabel : JHUVNLB2ECCCN10
D) ARP
Q2857920) The main advantages of the optical fibre cable
QLabel : JHUVNLB2ECCN18 over coaxial cable are
Q2857926) dg Welahiel it T3 Fr T ATfeleT Fl TATT IWA A) narrow bandwidth and low external interference
£y ! B) wide bandwidth and high external interference
N IP & 3R o & siggdia snidl §, FEAT § C) wide bandwidth and low external interference
D) narrow bandwidth and high external interference
(ACYU/IATR 39T TTATT 37 @ §)
QLabel : JHUVNLB2ECCCN10
A) FTP
B) HTTP Q2857920) HATEN dhael TR HITThel BIgeN dhael & HEY
C) DHCP .
D) ARP e
A) ThIoT dsfasy 3R et argd gedara

Q2857918) Read the given Assertion and Reason carefully C) i. e . s Si;jT fota=1 aTe] 6‘:1&?5[
and choose the correct option. D) Fehrot dsfagy AR 3= argdl g&d

QLabel : JHUVNLB2ECCCN9
Assertion: During DNS resolution, DNS messages are sent

from DNS clients to Root DNS servers or Local DNS Q2857919) IPv4 address 127.0.0.1 corresponds to
servers
Reason: DNS server identifies the IP Address of the A) 01111111.00000000.00000000.00000001 /
Destination Server 01111111.00000000.00000000.00000001

B) 100000000.00000000.00000001.00000001 /
A) Both Assertion and Reason are true and Reason is the 100000000.00000000.00000001.00000001
correct explanation of Assertion C) 1111111001/1111111001
B) Both Assertion and Reason are true but Reason is NOT D) 1111111.0.0.1/1111111.0.0.1
the correct explanation of Assertion
C) Assertion is true but Reason is false QLabel : JHUVNLB2ECCCN9

D) Both Assertion and Reason are false
Q2857919) IPv4 HaT 127.0.0.1 foh&eh 3T &7

QLabel : JHUVNLB2ECCCNS8
A) 01111111.00000000.00000000.00000001 /

2857918) T 1T TR 1T 31 0T Y €07 & TEa 01111111.00000000.00000000.00000001
Q ) Sat B) 100000000.00000000.00000001.00000001 /
fashed g 100000000.00000000.00000001.00000001

) ) C) 1111111001 /1111111001
AR ATeF: DNS Yoo it & GNTeT, DNS HeRT, DNS Felise D) 1111111.0.0.1/1111111.0.0.1

¥ & DNS HIT IT TUENT DNS TR & A g &

Pagel50f23


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

Setld : 77819 _2

12-05-2022_
B2_LIVE_12MAY_JEE_GENERAL_GTO_ELECTRICAL_
ELECTRICAL AND ELECTRONICS

QLabel : JHUVNLB2ECCN20

Q2857927) (i) RIP
(i) DHCP

Among the topics (i) and (ii), which can be called as client?

A) (i) only

B) (ii) only

C) Both (i) and (ii)
D) Neither (i) nor (ii)

QLabel : JHUVNLB2ECCN20

Q2857927) (i) RIP
(i) DHCP

v (i) 3R (i) & ST fFa FaTST FHET ST AHAT 872

A) Fad (i)

B) &had (ii)

C) axar (i) 3R (ii)

D) o (i) 3R =T & (ii)

QLabel : JHUVNLB2EEEM41

Q2857909) What is the meaning of accuracy?
A) Closeness of output to the true value

B) Change in output for every change in input

C) Degree of freedom from random errors
D) Dispersion of measurements

QLabel : JHUVNLB2EEEM41
Q2857909) TFITH T 31 41 &2

A) TE AT & fIT 33eye Fr Aehedr

B) $eYc # §Y daolld %fﬁvwﬁw
C) IreTeoe AT & TaTe>g HIfe

D) HTY T FhroTe

QLabel : JHUVNLB2EEEM40

Q2857908) By using low resistance shunt in permanent
magnet moving coil instrument, it can behave as

A) Ammeter

B) Voltmeter

C) Flux meter

D) Ballistic galvanometer

QLabel : JHUVNLB2EEEM40

Q2857908) TUY Yeeh FHAaT higel SELHT H A TTATE dTel
2T T 3UTNIT Flh, TG Thdh FT H TR F Hhdll g7

A) TFHIY

B) dlecalex

C) Welarg HIeX
D) dfeiffes Heaaredex

QLabel : JHUVNLB2EEEMA43

Q2857912) For measurement on high voltage capacitors
which bridge will be suitable?

A) Wien Bridge

B) Modified De Sauty's Bridge
C) Schering Bridge

D) Wheatstone Bridge

QLabel : JHUVNLB2EEEMA43

Q2857912) 37T dlecdl TUTRT W AT & v HiaT aAT foer
3UYF gH?

A) R fer

B) Hifswrss 3 &ira faer
C) ®WRe o=t

D) cgie¥cle foiat

QLabel : JHUVNLB2EEEMA42

Q2857910) In a 3-phase power measurement by two
wattmeter method, both the watt meters had identical
readings. What was the power factor of the load?

A) Unity
B) 0.8 lagging
C) 0.8 leading
D) Zero

QLabel : JHUVNLB2EEEMA42

Q2857910) ar arcHIeX fafer garT 3-TR0T fostell ATT A, gt are
FHrex 7 FATT NfSe1 2| A3 1 IraR thereX F47 27?2

A) gfae

B) 0.8 af3amr

C) 0.8 eiifsar
D) T
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QLabel : JHUVNLB2EEPG10

Q2857877) If the discharge is 1 m®/sec and the head of the
water is 1 m, then the power generated by the
alternator (Assume 100% efficiency of generator and
turbine) will be

A) 9.81 kW
B) 12.5 kW
C) 16 kW
D) 22 kW

QLabel : JHUVNLB2EEPG10

Q2857877) Tfe fSrarar 1 m*/sec g AR ars T MY 1 m &, ar
3T GaART 3cdesT AT (STeeX 3R TaT5eT Fr 100% caTar
I o) gt
A) 9.81 kW
B) 12.5 kW

C) 16 kW
D) 22 kW

QLabel : JHUVNLB2EEPG19

Q2857886) When two synchronous generators are
operating in parallel, a change in governor set points of one
machine

a) changes supply frequency.

b) changes active power supplied by the generators.
¢) changes the terminal voltage.

Of these statements /

A) (a) and (b) are true
B) (b) and (c) are true
C) (a) and (c) are true
D) (a), (b) and (c) are true

QLabel : JHUVNLB2EEPG19

Q2857886) STd & AT STeAkel TATTAR H 1 FI L &,
a9 U FNA o IGeR AT Ulsee H Ueh Sold,

a) 3Mqfet 3gRT T TET St B

b) ST AT 3Mfet T I 3§ Ao AT T Jael & &
c) cfAeTer dreedr Y deof T &

SARYAT H A

A) (a) 3R (b) & &
B) (b) 3R (c) Fer &
C) (a) 3R (c) FETE
D) (a), (b) 3 (c) WET &

QLabel : JHUVNLB2EEPG11

Q2857878) A coal fired steam power plant working at a plant
load factor of 90% has one 400 MW generating unit. If the
heat content of the coal is 2 kWh/kg, the overall plant
efficiency is 60% and a train load of coal is 900 metric tons,
the number of trains require

A) 1
B) 6
C) 8
D) 10

QLabel : JHUVNLB2EEPG11

Q2857878) 90% F Tolic s thaeT UX &1 FX 1§ HIT &
TeleT ATl TEH TTe] Telie # 400 FIMMETE T Teh 3cT1eeT ShTs
BT &1 TAfe; el T FEAT HTHA 2 KWhikg &, el TIT &Il
60% g 3R FITer &1 Teh ¢ alls 900 Hifgw oo §, af fohaeir
%\Tgﬁfﬁrmaﬁrmamm?

B) 6

C) 8
D) 10

QLabel : JHUVNLB2EEPG12
Q2857879) Moderator in nuclear reactor is used to

A) control the chain reaction

B) stop chain reaction

C) start chain reaction

D) transfer heat produced inside the reactor to heat
exchanger

QLabel : JHUVNLB2EEPG12
Q2857879) ATIAHIT Ruarex H FHeeh STAATH [hT AT &

A) HEaT Fiafshar I AT we & faw

B) &l UTdfshal d¢ &dal & forw

C) Al FfaIfsham Y& A & T

D) RUeeX & e IcUTed FSAT I g1 TFadoi H
FIATART el & foT

QLabel : JHUVNLB2EETD16

Q2857883) A single phase transmission line of impedance
j0.16 ohm supplies a resistive load of 800 A at 500 V. The
sending end power factor is

A) 0.5 lagging
B) 0.7 lagging
C) 0.8 leading
D) 0.97 lagging
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QLabel : JHUVNLB2EETD16

Q2857883) UTIETHT j0.16 311 T Teh Tehol TXUT HTARUT TS
500 V 9T 800 A & YfcRrersh 8% &1 3mqfel &l g1 dfsar v
TR thereX &

A) 0.5 oifdarar

B) 0.7 =f3arer

C) 0.8 oifdarar
D) 0.97 oif3arar

QLabel : JHUVNLB2EETD21

Q2857888) In SCADA system network, the Repeaters are
used to increase the

A) distortion of transmission data

B) noise of transmission data

C) coverage range of transmission data
D) length of transmission data

QLabel : JHUVNLB2EETD21

Q2857888) SCADA f8TeH sicas & Rfiex [ 5o+ & fow
SEAHATS TohT ST 82

A) FEROT 3T T faspiar

B) HTROT 3TT T QAR

C) TiafALrT 3T T dhaet 3T
D) HTROT 3T &I oars

QLabel : JHUVNLB2EETD22

Q2857889) In a power transformer, which winding is closer
to core?

A) Primary winding

B) Secondary winding
C) Low voltage winding
D) High voltage winding

QLabel : JHUVNLB2EETD22

Q2857889) Ueh UTaR TTUHWHIHT H el TT ATSTSIT R F dId
g7

A) ITITAS arsfaer
B) gfadae arsfsar
C) fa= drecar agfsar
D) 3<d dlecdr arsfadr

QLabel : JHUVNLB2EETD17

Q2857884) In a power system with a negligible resistance,
the fault current at a point is 8 pu. The series reactance to
be included at the fault point to limit the short circuit to 5 pu
is

A) 3pu

B) 0.20 pu
C) 0.125 pu
D) 0.075 pu

QLabel : JHUVNLB2EETD17

Q2857884) Tgd &# TTRIY aTel faisTell goumTel #, Ueh foig
Hiee AC 8 pu &l 2Aic Tfhe F 5 pu I AT F & AT
Blee g 9T ATTAS T STt arelt e ufafshar §

A) 3 pu

B) 0.20 pu

C) 0.125pu

D) 0.075 pu

QLabel : JHUVNLB2EEPE34

Q2866392) How many semiconductor layers are available in
a TRIAC?

A) Two
B) Three
C) Four
D) Five

QLabel : JHUVNLB2EEPE34

Q2866392) Tsh TRIAC # fohdal Teiehsare oI 3Tele &7

A) ar
B) dlst
C) IR
D) 9ra

QLabel : JHUVNLB2EEPES33

Q2857901) If holding current of a thyristor is 2 mA, the
latching current can be

A) 0.06 pA
B) 0.002 A
C) 0.012 A
D) 0.004 A
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QLabel : JHUVNLB2EEPES33

Q2857901) TfE T UTERTX T glfesaT Hc 2 Hell TFRR §,
A ART e g aARar g

A) 0.06 pA

B) 0.002 A

C) 0.012 A
D) 0.004 A

QLabel : JHUVNLB2EEPE32

Q2857900) An SCR has half cycle surge current rating of
3000 A for 50 Hz supply. The one cycle surge current of SCR
is

A) 1500 A
B) 2121.32 A
C) 6000 A
D) 4242.64 A

QLabel : JHUVNLB2EEPE32

Q2857900) Teh SCR # 50 &¢aT Yt & forw 3000 A &y 3merm
sk G e aciTel T | SCR T Teh Tsh ol URT &

A) 1500 A
B) 2121.32 A
C) 6000 A
D) 4242.64 A

QLabel : JHUVNLB2EESP14

Q2857881) The main function of series reactors in power
systems is to

A) improve the transmission efficiency

B) improve the power factor of the power system
C) improve the voltage regulation

D) bring down the fault level

QLabel : JHUVNLB2EESP14

Q2857881) faegd worferat 7 s@ell Ruerext &1 &g H ¢
A) HTROT ST H FUR FHTaAT

B) ufeFc oI & QA I[0Teh H FEUR el

C) dteedT fATH & GUR HT=
D) Wlec TR I A1 dTelT

QLabel : JHUVNLB2EESP20

Q2857887) Loss of excitation in generator is detected with
the help of

A) Mho relay

B) Distance relay
C) Reactance relay
D) Directional Relay

QLabel : JHUVNLB2EESP20

Q2857887) STeleX H 3T FT gl Hl fhadhr Fee & gdr
ST 7T &7

A) Mho Rer
B) gt Rer
C) ufaara Ner
D) feemeAs Ret

QLabel : JHUVNLB2EESP15

Q2857882) A circuit breaker is rated at 2300 MVA, 66 kV,
it's breaking current will be

A) 7.65 kA

B) 10.29 kA
C) 15.65 kA
D) 20.12 kA

QLabel : JHUVNLB2EESP15

Q2857882) Ush Hfehe ST 2300 MVA, 66 kV & farw e
A) 7.65 kA
B) 10.29 kA

C) 15.65 kA
D) 20.12 kA

QLabel : JHUVNLB2EESP13

Q2857880) An over current relay having a current setting of
150% is connected to a supply circuit through a current
transformer of ratio 500/10. The pick up value is

A) 6.25 Amp
B) 10 Amp
C) 12.5 Amp
D) 15 Amp
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QLabel : JHUVNLB2EESP13

Q2857880) 150% I TTATST T aTel Teh AR HC el Hr
500/10 & 37Ul & FcTHTST ZIABIHAT & ATETH § Teh 3Tqfel
gfehe & SIET AT & | V3T AT &

A) 6.25 Amp

B) 10 Amp

C) 12.5 Amp
D) 15 Amp

QLabel : JHUVNLB2EEIDC31

Q2857899) In how many quadrants of torque and speed, the
electric drive of elevator is required to operate?

A) 1
B) 2
C) 3
D) 4

QLabel : JHUVNLB2EEIDC31

Q2857899) ieh 3R 1Y & fohcTal TTUTer A Toldex & golfareesh
313d I HTTold T ATTLTH g2

A) 1
B) 2
C) 3
D) 4

QLabel : JHUVNLB2EEIDC29

Q2857896) The open loop DC gain of a unity negative
feedback system with close loop transfer function (s+5)/(s?
+9s +13) is

A) 5/13
B) 5/8
C) 5/18
D) 13

QLabel : JHUVNLB2EEIDC29

Q2857896) Fellol od AT HerleT (s+5)/(s? +9s +13) o &Y
Teh FAST AT Brsden AEeH $1 39el o7 DC AT &

A) 5/13
B) 5/8
C) 5/18
D) 13

QLabel : JHUVNLB2EEIDC30

Q2857898) Now a days, which motor is normally used for
crane travel?

A) AC slip ring motor

B) DC series motor

C) Synchronous motor

D) Differentially compound motor

QLabel : JHUVNLB2EEIDC30

Q2857898) 3iTeTehel, hisT AT HAIEY ATHATT & I shel ATAT &
TIT g=AYeT v ST &7

A) AC g Rer Aex

B) DC @RI Al

C) s Al

D) FBwfaeell &ur3+s Al

QLabel : JHUVNLB2EEUEM24

Q2857891) Power factor of industrial undertakings is low,
mainly because of the use of

A) large machines

B) large number of Induction motors

C) large number of synchronous motors
D) large capacitors

QLabel : JHUVNLB2EEUEM24

Q2857891) 3iieNTeh IUshaT T IfeFe I[UTeh HET & H fohareh
TANIT I Iolg T FH 87

A) 31 #7fleT
B) SeISarIeT Al I I8l T&AT
C) Rslera Al Fr a8t gEar
D) &3 HYTRT

QLabel : JHUVNLB2EEUEMO09

Q2857876) If an entity consumes 500 kWh per day at a load
factor of 0.4, the maximum demand permissible is

A) 52.08 kW
B) 70.8 kW
C) 4.5 kW
D) 60 kW
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QLabel : JHUVNLB2EEUEMO09

Q2857876) T FIs SHS 0.4 F s tharex WX ufd &t 500
KWh & @ae il 8, af 3iferds 3 AT §

A) 52.08 kW
B) 70.8 kW
C) 4.5kwW
D) 60 kW

QLabel : JHUVNLB2EEUEM18

Q2857885) Requirement of luminous flux in any lighting
scheme is inversely proportional to the

A) surface area

B) space-height ratio

C) illumination

D) coefficient of utilisation

QLabel : JHUVNLB2EEUEM18

Q2857885) fohdll off yenrer cdaedr # JHlTE Folrd I
JTERTeRT, eshATTUTCT Blchl 72

A) Hdg & F

B) STaTg-3TS 3fefurcl
C) waifea

D) 39T I[UTh

QLabel : JHUVNLB2EEUEM23

Q2857890) What is energy consumption per unit GDP
called?

A) energy ratio

B) energy intensity

C) per capita consumption
D) energy cost

QLabel : JHUVNLB2EEUEM23

Q2857890) Fail I WU T Jfete GDP AT FHgelrclr 82
A) FSlT JHeTdTeT

B) Foll Telca

C) Yideafed @ad
D) FaiT eImaTed

QLabel : BSPHCLEE31516

Q2865941) Which among the following drive is also called
as Line shaft drive?

A) Individual drive

B) Multimotor drive
C) Group drive

D) Two motor drive

QLabel : BSPHCLEE31516

Q2865941) faFfaflad & & fa 315d &I o5 TFe 33 Y
gl ST 872

A) afFderd grsa
B) HAccIANC 318d
C) |Hag gIsd

D) & #leX 318q

QLabel : BSPHCLEE31515
Q2865940) The Metadyne control system is based on

A) Constant current system of speed control
B) Constant voltage system of speed control
C) Variable resistance method

D) Variable Tractive effort

QLabel : BSPHCLEE31515

Q2865940) AeTSs+ el [afey 9T 3menia &

A) i frZoT bt AT HlSiar Jotrel
B) 31ft =0T I foiaR atecst gotrer
C) uRadea wfare fafer
D) uRadeT ¢faea wama

QLabel : BSPHCLECE100

Q2865937) Which among the following constitutional
personality has the right to speak in legislative assembly and
advise the government on legal matters?

A) Advocate General
B) Attorney General
C) Controller

D) Auditor
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QLabel : BSPHCLECE100

Q2865937) 38 HAHTTeIeh cATarclcd ol Tgdlel ToTdl faTed T H
SeTel 3R ST ATHAT T EIHR I Hellg & 1 HTUDHR B
A) FEIfgadr

B) Hgl-IrIdIc

C) s

D) ofEr W&t

QLabel : BSPHCLECE99

Q2857932) Which of the following are likely outcomes of
long term supplier partnership?

A) Increased Price and Increased quality

B) Increased Price and to minimise the return on
investment for customer and supplier

C) Increased quality and to maximise the return on
investment for customer and supplier

D) Decreased price and Decreased quality

QLabel : BSPHCLECE99
Q2857932) fawafaf@a & & i & refeprioren qfciehall
TISENT & Hanfad aRome g2

A) 98 g3 Hrad AR 5 g% Forar

B) ST §% A AR IMeeh AR mqfcfepa & fore foader X
Rest @1

C) agm?ﬁ%ammaﬁuﬂuﬁwﬁa%mﬁa‘ww

7 o] AR
g; uﬁgémaéﬂmﬁaé’rw
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Question Paper No: | 77819 2
Answer Key
1 D 31 A 61 C 91 B
2 C 32 D 62 C 92 A
3 B 33 C 63 A 93 B
4 B 34 A 64 B 94 A
5 A 35 C 65 C 95 D
6 A 36 D 66 D 96 B
7 A 37 B 67 A 97 C
8 A 38 C 68 C 98 A
9 C 39 A 69 A 99 A
10 C 40 C 70 B 100 C
11 C 41 C 71 A
12 D 42 C 72 A
13 B 43 A 73 C
14 B 44 C 74 A
15 C 45 C 75 A
16 C 46 B 76 A
17 A 47 A 77 C
18 D 48 A 78 A
19 C 49 B 79 D
20 A 50 D 80 C
21 C 51 A 81 C
22 C 52 D 82 D
23 A 53 A 83 C
24 A 54 A 84 D
25 A 55 C 85 B
26 C 56 A 86 D
27 D 57 C 87 A
28 A 58 A 88 D
29 A 59 B 89 D
30 D 60 D 90 D
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